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Question Number : 1 Question Id : 51714412176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which learning style is associated with understanding information through
patterns and relationships?

o) e 30 Sirare grofarge e HErarTeR) @tho DB e

®i00000350 606 7
Options :
Visual
1. % CSJ%‘S
Auditory
2. % (#es
Kinesthetic
8555
3. %
Logical
4 E@D&gﬁ

Question Number : 2 Question Id : 51714412177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a traditional lecture-based classroom, who primarily controls the flow of
information?

PoEITrahE edaegd eprd $5K8 Kost Hdmaet @arard)) DaHolBoHdd JBh?



Options :

Students
3}550550@3
[

Feers
2 % SBarts

Educational technology

 DoDRcDH FPoS8Es
3. %

Teacher
4. 5*365%3{53

Question Number : 3 Question Id : 51714412178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How do support materials contribute to effective teaching?
aiatgéj ﬁmno;m ﬁa’mg F55% e DS5eEBIoN?

Options :

By replacing the need for teacher involvement.
| % H5HD HHohH o808 E,“SESD Sc50e ApNey

By providing a distraction-free environment.
ﬁiﬂ@’@%oé?} arardno BOA0HhE teqoe
E

By facilitating varied learning experiences.

3 @ DG ©grgd edgraroih hegsdo Sa%0és Ao



By automating assessment and grading.
0605, BBord oo wredo Dcsne apNe

Question Number : 4 Question Id : 51714412179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The term "elective courses” in a choice-based education system refers to
courses that:

208 eagred Sjméégaéﬁ Qé}&?ﬂ %ﬁ{ﬂg\j@} oRm &% OMHD 55653‘3@

Options:

Are mandatory for all students
=lolnleY E}Eﬁt’éﬁgﬂé SRV00

1. %
Are chosen by teachers for students
Degthe B8 SHein JobE DI
2. % p
Students can choose based on their preferences
Dergoen 778 ([ErerisSe oxoe dobE Sar
3.v “ >
Are only related to physical education and sports
FBBE D, Bod SrED Bon0HoDHE
4, %

Question Number : 5 Question Id : 51714412180 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of ICT-based learning tool?
& BIDD RS OB ICT-w5rds8 ey HBE5KD

Options :

Whiteboard and marker
@géﬁﬁ% Vislevn R vie)leY

Chalk and blackboard
28, $9 éf’éﬁj

2. ®
Printed texthook
Se(BoDS arargod HHEHD
3. ®
Educational software on a tablet
3E5 2 Doy DAGH FHI6
4. =

Question Number : 6 Question Id : 51714412181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Why is "replicable" an important feature of research?
(23B80H0R @R Jothaew 58885 SmnggeEsan

Options :



It allows researchers to keep their methods secret.
©8h HB855%en &5 ;'jgéjﬂéj B5g0re S0BEPRNE SHDPRIEE0E

It ensures that research findings are applicable only to specific cases.
8" @’Jééé Bhos® SrEh 58885 St $80Tken Ko

2. ®
It allows other researchers to repeat the study to verify the results.
@8 =288 HBESHen o HDaresH HBSrHEHD eggahido SBA
Somérden 0vHod

3.¢ B
It prevents other researchers from using similar methodologies.
=288 H8888Hen wenHoB mga}um Evtat=vlelns KJSB&:.‘@DDE}

4. %

Question Number : 7 Question Id : 51714412182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Post-positivist researchers are more likely to:

éjﬁ% @ﬁﬁéﬁfﬁ% $588%¢5%en QEDES Dograjgore

Options :

Completely disregard quantitative data

- IPOre HBerd)E SerodR ASEo e

Focus solely on subjective experiences
e&éé'go‘ﬁj ER0ETPET°E) 20 :ﬁﬁ“:,é’q A Ee
2. ® o



Acknowledge their own biases and limitations in research

$588%556° 850 S0 Darere, H6dhded B0
3.¢

Reject the need for peer review and validation
&Barh ‘5‘3&‘05, tﬁaﬁ)éfﬁme_} ©DITR) BEHBFD

Question Number : 8 Question Id : 51714412183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The APA referencing style is primarily used in which academic disciplines?
APA 858010 3D Frproetorr o) duhonod FHoS GHEPATE

Options :

Social sciences

oy Foren
1.9 %U &

Natural sciences
Dees @laen

Engineering

3 % 508080

Medicine



Question Number : 9 Question Id : 51714412184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How can ICT assist in the literature review process during research?
588%5:56° (Hog HWBH ICT ey H:PEBoS Keth?

Options :

By providing opportunities for plagiarism
& (of T B edsearen SO

1. %

By allowing researchers to skip the literature review phase

% H88 8% Ko Eéfbg B&0 méﬁé&@n Dc50é apN e
2. %

By offering access to online databases and academic journals

& 6388 Swrod FrHoren, HugHBEed HREo Edoher txoe
3.¢ ot

By replacing the need for citations and references

eBparen. [HFEHden, @ioeg) godcne awo
4. %

Question Number : 10 Question Id : 51714412185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



What is the function of an "Appendix" section in a thesis?
50888 e aaﬁ”;éméﬁ " @2088) " Dgrits) DB &

Options:

To introduce the main research question
58880 SoggEHD HBScho S5

1. %

To provide additional details that support the main text
5 Soggardsiogrd Eﬁjiéé}r@ @i5d) Ddoredy Bl

To summarize the research findings
5B ST KRR Holifsorr 3o Aol

3. %

To present the author's personal opinions

Baomes se8re gradied mding oxoe
. 581 g Bl oy
Sub-Section Number : 2
Sub-Section Id : 517144497
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714412186 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

H50RE: (ot mixabd Sirarbo egrdore Q. 115506 Q. 15 HEpH Sirgrarom
[@raob.
The Castle of Edinburgh is free (as appears fo be the case with all garrisoned places in

Great Britain) to the entrance of any peaceable person. So we went in, and found a
large space enclosed within the walls, and dwellings for officers, and accommodation
for soldiers, who were being drilled, or loitering about; and as the hill still ascends within
the wall of the castle, we climbed to the summit, and there found an old soldier whom
we engaged to be our guide. He showed us Mons Meg, a great old cannon, broken at
the breech, but still aimed threateningly from the highest ramparts; and then he admitted
us into an old chapel, said to have been built by a Queen of Scotland, the sister of
Harold, King of England, and occupying the very highest part of the hill. It is the smallest

place of worship | ever saw, but of venerable architecture, and of very solid construction.

NS 8% Fodaidore ot o Hi8w [Hdo 8080 ([ LS el
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Sub questions

Question Number : 11 Question Id : 51714412187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Thereis a inside the boundary wall of the castle
8% 558 B S%5e a8 S06.

Options :

low hill
{’.}K& BP0

steep hill
o828 BP0l

boulder
2otsTran

rocky terrain
oed Zomgeiio

Question Number : 12 Question Id : 51714412188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

There is a intimidating from over the lofty bulwark.
08D (arseTre b8 Hod ad BOBHHER™ S0b
Options :
cannon
| aSoh



platoon of soldiers’
=, Ty
2D Yoo

group of officers’
3 x ©HsHo aotio

group of guards’
4 % POO Sdedeo
. G

Question Number : 13 Question Id : 51714412189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The old chapel is situated on the of the hill.
aods @vgaﬁ Shobto o &0b
Options :
foot
1 % B0
ridge
5 % S0LHR
summit
dpbo 2D

3.¢



surroundings
HBGTee&d

Question Number : 14 Question Id : 51714412190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author appreciates the chapel's
BSomes @ﬂgaﬂ shobBo Ging) R DENHTH

Options:

History
nfells

’I_bé

location
He0
2.8 @

structural design
Nepl Eegensd
\.-""I o

ambience
e NBE0

Question Number : 15 Question Id : 51714412191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

The author visited the castle, as a
BSomes, es Bexdo 2.8

Options:

tourist

1@ émvgj@éj&rw

historian
> % DO(EsHET

soldier
B

archaeologist
HoHS) FHBEe

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :
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Question Number : 16 Question Id : 51714412192 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Being an communicator helps in resolving conflicts and
misunderstandings in communication.
éa’méﬁ}éﬁ}gm So¥io Do émgﬁéﬁﬁéﬁ Dedoren HBH

@uﬂﬂugejé} 5’}62@5@5{5@6{’ HedahNtehod.

Options :
empathetic
| FrodireSire

inconsiderate

3 D039
2_ W
observant
Kdood
3. %
inconsistent
etanm
4, % il

Question Number : 17 Question Id : 51714412193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Providing clear instructions and guidance for activities in a classroom is a

strategy for _ communication
SB158 KHE® sfBerarob )aD SrSden Hbain SrditEso eobodto
©26 EX0gRBAS 6 a8 5.

Options :



controlled
1 & NdDo@odabd

procedural
» PRDBHD

unintended
3 @ Sl
content
. Sach m&@;ﬁj

Question Number : 18 Question Id : 51714412194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being s a key to establish a genuine relationship with a
person whose linguistic and cultural background is different
araP S0Ba %ﬂ@ﬁgg@é 353@550 Ddyore &) 5’35%55 SEH Sonogrd)

DB S=08 o o8 s5to Soo

Options :

close- minded
oI a’)ﬁé*’mr:]

open- minded
DF°0 HNJE0 Bl
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self- reflexive
foﬁdi} TR

self- respectful

) ?::5@:13 aietle!
4, %

Question Number : 19 Question Id : 51714412195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In order to have excellent decision making skills, a person needs to have
intelligence.
otisDd Abaho 8053 SJeTgen EOA S0TP008, 2.8 5588

55308 B0DBeren GOTD.

Options :

social
PN o]

psychological
S3PR0

spiritual

@m@@&é

emotional
E,}'Dﬁﬁaéﬁ



Question Number : 20 Question Id : 51714412196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Radio and television are the examples of media
B B0 BOD=S Sr6 s Grrseteen
Options :
electronic

1. DgHes

print
5 % (e
I social
Y T
3.
traditional
A 20(TEHE IR

Question Number : 21 Question Id : 51714412197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0



8.4,4,6, 12, 30,

Options :
1 % 79
95
2. %
90
3. ¢
105
4. %

Question Number : 22 Question Id : 51714412198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
EUILN, DWFPI, ___ CXEQH, GSKJP

Options :
FTJKO
FUILM

2. %

EULIM
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Question Number : 23 Question Id : 51714412199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word FRAME = 48 and HURDLE =74 then
FIGMENT= ?

2.8 DON T8 270’ FRAME = 48 <9005 HURDLE =74 050 eo00d

FIGMENT= ?
Options:
74
1. %
89
2. %
91
3. #®
81
4.

Question Number : 24 Question Id : 51714412200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Shiva starts a business with an investment of Rs. 1,00,000. Pradeep joins him
after 3 months with an investment of Rs. 1,50,000. is the Shiva's share
in the total first year profit which was Rs. 51,000.

365 ¢57.1,00,000 DEPDAS T5arS0 (BFS0E0TTR. (HAD 3 T ehUr 26k
3. 1,50,000 © Denabd eSS TOW. _ INCE H0aie )50

Fngo P06 355 arer &P, 51,000 D w0k B awir

Options :
21,000
1. %
“ 20,000
27,000
3. %
24,000
4.

Question Number : 25 Question Id : 51714412201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

A trader loses 20% when he sells a TV set for Rs. 12,000. The percentage he will
gain by selling it for Rs. 20,000 is

2,8 50 ¢38) e Er.12,000.8 e95030953 )% 20% e, &
20,000 8 e9:22¢50 &° 50° e9eba) 80T ere T30, _

Options:

15%

1. %



33.33%

16.66%

25%
4. ®

Question Number : 26 Question Id : 51714412202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements:

No village is a city.

All cities are states.

BAEATN ISV

o) DBTETH SISO 5.
@) Soren 0 le.
Conclusions:

l. Some villages are cities.
1. Some cities are states.

3T eN”
. Q) [ITadreny Sfforew.
. Q) Sforen T°lalew

Options:

| follow

Il follows



Both | & Il follows.

MNeither | nor |l follows

Question Number : 27 Question Id : 51714412203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In a class of 90 students, 60 opted Maths, 50 opted Science and 20 opted both.

How many students opted only Science?

90 0O Veedend) SEHBS 60 S0 ST, 50 H0A S, 20
06 o003 OTHET) K. D0BD0O DTzhen T D S
DOTDED®) 0?

Options:

20
1. #®

30
2. v

40
3. %

50



Question Number : 28 Question Id : 51714412204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

How is my son’s daughter’s sibling’s mother related to my wife's only son?
o §C%0 Eretnth BantYsl) HO8, ar ards 2.8 E) s
P00 el E3?

Options :
Sister

1. =

5 % Sister-in-law
Wife

3.¢¥
Aunt

4, =

Question Number : 29 Question Id : 51714412205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?
&1 180073’ 2rE0% S80S eddrd (AT G) Bk Gorarden

05850 67



Options :

Statement of reason
_— s°8es0 GInE) (HBED

Proposition to be proved
QBDoSROND (B3BarED
2. ®

Conclusion proved
swnhony AtFEHoSHl0d

Universal proposition along with an instance
4 STPSTEEES ot OB (DTS

Question Number : 30 Question Id : 51714412206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and choose the right option
6165 DE 0T O HBHEINS'E D0 HOC B eI
AW Yole

a)  Pratyaksha based on the perception of an object and Shruti based on
hearing.
28 S0 OBEY (1570 STPBOTP [H858, IVEG eSO (Hed.
b)  According to the Naiyayikas, inference is of two kinds, namely,

Svarthanumana (Inference for one self) and Pararthanumana (Inference
for the sake of others).

VOSP SONHO) (@G0, taT B0 E5°ED, ) 6 FPGaDA (25
3¢50 €2sr) DO HoefibEdd (BSBO §°00 @05wr).



Options :

Only (a)

CIBUERY
1. #

Only (b)

(b) SSe|5 5D
2. %

Both (a) and (b)

(@) D003 (b) Dodr
3.

Neither (a) nor (b)

(a) S (b)DOT 7D
4, %
Sub-Section Number : 4
Sub-Section Id : 517144499
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714412207 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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The following pie charts show the results of a board examination. Total number
of students appeared for the exam is 77,000
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How many students failed in Mathematics in the board exam?
5D DB S 11350 DOed O VrEen PONS eaiTsn?

Options :

1% 46200

15400

3 % 11550
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If 10% of the students who appeared, got 100% of the marks in Mathematics,
then the number of students failed in Mathematics is how much percentage
more than the number of students who got 100% of marks in the same subject?
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1. %

100%
o



150%

200%
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If 10% of the students who failed in science were made to pass by giving 5
grace marks, 40% of them secure more than 85% of the total marks in the five
subjects as a result of these grace marks. The new number of students who got
more than 85% of the marksis
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In the next year, the total number of students appearing for the exam increased
by 10% and the number of students who failed in social studies is what
percentage of the total students who appeared for the exam.
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The number of students who failed in Mathematics in terms of percentage is
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What is the full form of SSD?
e ae. & PO ENED

Options:

Smart State Display

1. %



Smart State Drive

“
. Solid State Display
4 Solid State Drive
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An unsolicited email message sent to many recipients at once is ........
©OrAS [ owen PG Trer 068 28r8 HodoHe

Options:

Virus
1. %

Attack

Spam

Memes
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Which of the following is a digital initiative for Robotics Qutreach Project.
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e-Vidwan
- Doeed

1% = DSM
e-Yantra

5 & B dSolss
e-Kalpa
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3. = =

None of the above
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Firewalls are used to protect a communication network system against ........
2.8 a8 IDEYDH & BIHD od B0 Pdarenid edrRosHt



Options :

Virus attacks
IV wethen

1. %
Unauthorized attacks
) ®@NO5E oethen
Data driven attacks
Gt espebé oethen
3. ®
Fire-attacks
26 orthen
4, %

Question Number : 40 Question Id : 51714412217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

URL stands for
Ghoe. e9b. ) edre

Options :

Universal Resource Location

Universal Response Locator



Unified Response Location

4.« Uniform Resource Locator
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Designing self-sustaining systems is a viable path towards long-term progress.
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Options :

Irreversible and flexible
. @ﬂj;,?%@&&, SRS A

Reversible and flexible
[B5)E"Neb, @HIH6

Reversible and inflexible
[S58°N00, @DHIH6 5ot

Immutable and unchangeable
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Which of the following agents is responsible for turning the Taj Mahal yellow?
SErenn 2 Dy Sl D)

Options :

Sulphur
Send

Chlorine
> % £68

Sulphur dioxide
Senb @ w86

3. ¢
Nitrogen dioxide
=S @ o586

4, %
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Why wind energy is considered a conventional source of energy?
md ¥82 dothBes DolarmrehE $8 S5t rHodtt?
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as it can rotate a windmill
28 red dholeed)) SD)Neth

as it can help in lifting water
@b DB D8 HoKien

as it is readily available and used for a long time
©b 3063 EEHDH. B0 SITEROSBIND.

As it is produced due to uneven heating of the Earth
g8 eddrtorr Joinh Dol ©b &858 @D
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International Day of Natural Disaster Reduction is celebrated on...........
rfich 95 Shoz) @Joéoagécﬁj B30 RoE THEH &%

Options :
June 15
2oy 15
1. %
March 5
Eﬁ}vétj 5



October 13

- %’J%Sﬁﬁ] 13

September 13

D202t 13
4. % 9
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In which year the National Environment Protection Act was passed in India?
20805 8 et B epR) ©iBod dodéto?

Options :
1974

1. %

5 % 1981

3« 1986

4 % 1995
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Which is the first Open University in India?
B0805E° Fnisd FBY8E DIDagocHEn

Options :

Andhra Pradesh Open University
@olPHBE EYBE DI DD

Yashwantrao Chavan Maharashtra Open University
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Indira Gandhi National Open University
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Nalanda Open University
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What is the full form of ABC as per the NEP 20207
NEP 2020 ($setsim ABC eoidre

Options :

1.



Academic Basic Certificate.
“

Annual Basic Certificate.
2. %

Annual Bank of Credits

Academic Bank of Credits
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The purpose of value education is best served by focusing on...
& (B0b orlp B)a) 2GS Hend Sy GwE) ﬁé%ﬁﬁn SEre 385508

Options :

Cultural practices prevailing in the society.
HdresSns’ &) oYY eSbmen

1. %
Norms of conduct laid down by a social group
5 % 2.8 Jaire: Jehresrain DED SEDE DoHsnH

Concern for human values.

S5 Dende wodES
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Religious,moral practices and instructions
508, DB es58esren, stiden
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The best way for providing value education is through?
Dend) D ©ohoheoth HBALS 5GBS

Options :

Discussions on scriptural texts
_— e (Hogreg SBen

Lectures/discourses on values

5 % endop eHTgEReD, (Hhdorren

Seminars / symposia on values
QNN S/ 55%6_1}

Mentoring / reflective sessions on values
Dended &S B¥/ 1H8Doa SErRFen
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The full form of SAMVAY is......
SAMVAY ?’.gjvg SYLPSTNYY

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

School Assessment Matrix for Vocational Analysis of Youth

Skill Assessment Matrix for Vocational Analysis of Youth

3 Skill Accreditation Matrix for Vocational Advancement of Youth

School Accreditation Matrix for YVocational Advancement of Youth
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Which of the following represents the order of electronegativity.

Options:

F>CI>N>0

1. %

F>0>CI>N
2. ®

; v F>0>N=Cl

4 % F>CI<N>0
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Which of the following statement is correct regarding the non-metallic nature in the
periodic table.

Options :

Increases from Boron to Thallium

Increases from Caesium to Lithium

Increases from Boron to Fluorine

Decreases from Fluorine to lodine

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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What is the nature of the bond formed between BF3 and NH3 molecules?

Options :



ionic

1. F

covalent
2. ®

co-ordinate
3.¢

hydrophobic
4. %
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Which of the following statement is not true concerning the lanthanide contraction?
Options :

Separation of lanthanides

Anomalous behaviour of post-lanthanide elements
2. %

. High density of post-lanthanide elements
3. #

Lutecium complexes are less stable than other lanthanide complexes
4. v
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Compared to d-d absorption bands the f-f' absorption bands of lanthanides are very
sharp due fo ...

Options :

Strong interaction between f-orbital electrons and ligand field

1. %

5 % Poor shielding of 4f electrons by the 5s and 5p orbitals

- Weak interaction between f-orbital electrons and ligand field
. Same number of f-orbital electrons

4
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The donor atom of a soft ligand belongs to the following period.

Options :



1st

Sth

2nd

3 rd
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According to HSAB theory, which of the following acid dissociates easily?

Options:

HCI
1. #

HI
2. ¢

HBr
3. #

HF

4. %
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TICl3 is unstable but TICI stable due to the following reason.
Options :

increased Lewis-acidity

Inert-pair effect
2.«

high-electropositivity of Tl
3. %

increased Lewis-basicity
4. ®

Question Number : 59 Question Id : 51714412236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The following molecule exhibits polymorphism.

Options :



Cso

’| w
H20
2.
3 % graphite
cellulose
4. %
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The following element is a main-group element.

Options :
Ta
1. %
W
2. #
Re
3. %
In
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Metal complexes of the following element are used as MRI agent
Options :

Pt

Ce

Rh

Gd
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Rare earth metal ions are separated by the following technique.

Options :



lon exchange chromatography

1.9

TLC
2. %

HPLC
3. %

paper chromatography
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Which of the following spectroscopy technique used to distinguish the M-SCN and
M-NCS bonding metal complexes.

Options :

NMR



Mass
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The following combination of metals is considered as catalyst in Ziegler-Natta
polymerization.

Options :

Pd, Cu

1. %

Fe, Mo

Pd, Zn

Al, Ti
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The following element can be used for molecular hydrogen (Hz) storing.



Options :

i
’|_ F
Pd
2.9
Ca
3. ®
B
4. ®
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Auranofin is considered as the following drug.
Options :

Antirheumatic

Anticancer

Antibacterial



Antimalarial
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The Mollusca blood is blue due to the formation of following metal-ligand bond

Options :

Cu-O
1.¢

Fe-O
2. %

Co-0
3. %

Zn-0
4, %
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Which of the following rays has no charge?



Options :

Cathode rays

Alpha rays
2. %

Beta rays
4 Gamma rays
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The complex [Co(NHz3)s]** exhibits the
Options :
Diamagnetism

1. %

Paramagnetism
2. %

Ferromagnetism
3. %

Antiferromagnetism
4, %
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According to molecular orbital theory, the number of anti-bonding electrons present
in NO and CO are respectively.

Options:

1. O

2: 2

3; 2

2,3
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The following is an acid catalyst.
Options :

CaO

Zeolite
2.

N-heterocyclic carbene

dimethyl aminopyridine
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Walker's process is used to produce the following organic compounds
Options :

Alcohols

5 % Alkanes

Amides



Aldehydes
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The following metal ions are found in Super oxide dismutase.
Options :

. 2n(ll) and Ni(Il)

Cu(ll) and Zn(ll)

2.4

Ni(Il) and Co(lll)
3. E
o Cullland Fel
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The cluster [Os3(C0O)12] has the following type of structure.
Options :

closo

nico

3 @ arachno

hypo
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Which of the following d-electron configuration of a transition metal shows spin-orbit
coupling?

Options :

tZQD Egn



tZgBEgz

t2549gn
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What is the order of the reaction in SN'CB mechanism?

Options :

Zero

third

first

second
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Why [Co(H20)6]*? is stable than [Co(H20)s]** ?
Options :

lower CFSE

lower lattice energy

higher CFSE

higher heat of hydration
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Trans effect of the ligands which are not able to form metal-ligand =(pi)-bonds
increases with the increase of their ...

Options :

Bond angle
1. %



polarizability
2.

- nucleophilicity

electrophilicity
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Which test is used to distinguish the cis and trans-isomers of [PtA2X2] (A = NH3, X =
halogen or pseudohalide)?

Options :

Lassaigne's test

Kurnakov test

Kelling's test

Flame test
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An example of g& - bonded organometallic compounds.
Options :

R-Mg-X

1. %

(CsHs)2Fe
2. %

Cr(CO)s

(CsHs)Na™®
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Among the amperometric titrations, the titration between chloride anion and silver
cation is called...

Options :



Reducible ions vs non-reducible

1. #®

5 % Reducible ions vs reducible ions

3 4 Non-reducible ions vs reducible ions
Redox titrations

4, %
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Dimethyl glyoxime reacts with Ni*2 ions and forms the bright red-colour precipitate
in the following medium.

Options :

Ammonical
1.4

acidic

alkaline

4, =



pure aqueous
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The products A and B for the given reaction
[Co(NH3)sCI]™ + [Cr(H20)s]"? + 5H30* —A+B are respectively.

Options :

[Co(H20)sCl]* , [Cr(H20)6]*

1. %
[Co(NH3)s(H20)]*2, [Cr(H20)5CI]*2
2. e
[Co(H20)s]"2, [Cr(H20)sCI]*2
3.
[Co(NH3)sCl]*, [Cr(H20)6]*3
4, %
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Which of the following is acceptor molecular orbital (MOs) on CO molecule?

Options :

.:T.k
1.4

G
2. #®

G!n
3, #

'?Th
4. %
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Clausius inequality indicates
Options :

- dg
0y =
T



J‘d':lrev =0

dq = dw

dG=10
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The rate constant is tripled by a 10 °C rise form 295 K to 305 K. The activation
energy (in kJ mol) of the reaction is (R = 8.314 J mol''K'; log 3 =0.477)

Options:

32.18

1. #

100.2

82.18

38.12
4. ®
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AG = AH — TAS and [d% = —AS. The enthalpy of cell reaction, AH is then given
by
Options :
dE
x [ﬁell i EE‘EH
1. %
dE
ue [ECE” . T( dT")p]
2. %
dEce
3 [T ( dTll)p - ECEH]
3. ¢
dEcen
nFT (—dT )p
4. %
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The point group symmetry of the staggered form of ethane molecule is

Options :

Cav
1. %

Dad
2.9

Dsh

3. %

Ds
4, %
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What will be theoretical number of vibrational degrees of freedom in benzene,
carbondioxide and sulphurdioxide respectively?

Options :

12,4, 3

3.4,12



30, 3, 3

30,4, 3
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In which set of diatomic molecules/ions. the bond order is 2.57
Options:

NO, CN, CN-

Nz2*, NO, CN

02", N2*, CN™

Oz, NO°, CN-
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The main buffer system of the human blood is
Options :

NH2CONHz — NH2CONH3z*

’|_ E
CH3COOH - CHaCOO-
2.
H2CO3—HCOa-
3. %
H2CO3—-CO2%
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Graphene is a

Options :

Wide band — gap semiconductor



zero-gap semiconductor

v
insulator
3. %
A narrow band — gap semiconductor
4, %
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For centrosymmetric molecules, any vibration which is IR active is Raman
inactive vice — versa represents

Options :

Frank — Condon principle

1. %

- Doppler effect
Stark effect

3. %

Mutual exclusion principle
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The coagulation of 10 ml of colloidal solution of gold is completely prevented by
addition of 0.025 g of substance "X’ to it before addition of 1 ml of 10% NaCl
solution. The gold number of ‘X' is

Options :
25
1.+
0.25
2. %
250
3. %
25
4. ®
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The emf of the cell in which the following reaction,
Znis) + Nittoam= Znfaom + Nis)

occurs, is found to 0.5105 V at 298 K.

The standard emf of the cell is

Options :
0.5400 V
1.+
04810V
0.5696 V
3. %
-0.5105V
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The molar conductances of NaCl, HCl and CH:COONa at infinite dilution are
126.45, 426.16 and 91 ohm™ cm? mol ' respectively. The molar conductance
(in ohm™" cm? mol') of CH:COOH at infinite dilution is

Options:

201.28

390.71



698.28
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The ground state atomic term symbol for d° configuration is
Options :

2D

1. #

4Fg2

2Dsjz

1 1Sp
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Polydispersity Index (PDI) of polymer gives an idea of homogeneity of the
polymer. The PDI is estimated as

Options :
i
Mp
1.¢
Mw.Mn
2. %
My
My
3, #®
Mw — Mn
4, %
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The Fermi level for an extrinsic ‘'n’ type semiconductor
Options :

Lies mid-way between the valence band and conduction band
1. %



Does not exist

Lies towards the valence hand

Lies towards the conduction band
4.+
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The closeness of data to other data that have been obtained in exactly the same
was is

Options:

Accuracy

Absolute error

Relative error

4 Precision
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Match the following terms with correct sentences

List-1 List-ll
1. Outlier a) Measures the systematic error
associated with an analysis
2. Bias b) Affects the accuracy of results
3. Systematic error or Determinate error ¢) Colour blind analyst doing volumetric
analysis
4. Personal errors d) An occasional result in replicate

measurements that obviously differs
significantly from the rest of the results

Options :

1-(a)  2-(b) 3-(c) 4-(d)

1. %

1-(b) 2-(¢c) 3-(a) 4-(d)
2. %

1-(d) 2-(a) 3-(b)  4-(c)
3.¢

1-(d) 2-(b) 3-(a) 4-(c)
4. %

Question Number : 102 Question Id : 51714412279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

a* . ey ;
o2 operates on the wave function e 'k the result is

When the operator —h?
Options :

RE hEE—ikx

ikzhze—ak.r

2. %

ihze—:'kx
3. ®

hEE—tk.x
4. %
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Orbital having 3 angular nodes and 3 total nodes is
Options:

4f
1.4



6d

2. %
5p
3. ®
3d
4. %

Question Number : 104 Question Id : 51714412281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Given a trial wave function ¥, = C,0, + C,0,and the Hamiltonial matrix elements,
[ 01HO,dv = 0, [ 01HO,dv = 2.5, [ 03HO,dv = 12 the variationally determined
ground state energy is

Options :

-0.52

-0.50

12.50

12.52
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The number of microstates corresponding to the atomic term symbol “F is

Options :

T
1. #

12
2. #

28
3.¢¥

42
4, ®
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The ion having the highest bond order is

Options :



NO*

1. %

O>"
2. %

N2*
3. =

Lot
4. %
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The point group symmetry of the molecule cis — MLsX2 is

Options:
Car

1. #

5 % Dash
Czh

3. #



Cav
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If the component of the orbital angular momentum along the molecular axis of a
heteronuclear molecule is non zero, the rotational -vibrational spectrum will show

Options :

P and R branches only

1. %
P and Q branches only
2. %
Q and R branches only
3. %
All the P, Q and R branches
4.
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The molecule that will not absorb in the microwave region, but will absorb in the
infrared is

Options :

N2

CaHz2

HCI

H20
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In thermodynamics, which of the following statements is true?
.  Work is a path independent function
II.  Work is a path dependent function
I1l.  Work is the area under the curve in a PV diagram
IV.  Work and heat energy are completely interchangeable

Options:

| & IV



&1l

I, 1 & 1V

&1l
4.
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Joule-Thomson coefficient () of ideal gas is

Options :
1.v Hr=0
=10
2. %
g =-—1.0
3. %

1157 = = (infinity)
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The partition function corresponds to a one-dimensional simple harmonic
oscillator having equispaced energy levels with energy spacing equal to 3ksT
and E»=0 will be

Options :
3e®
g2—3

1. %
3e

gd—1

2. F
a2
3e—1

3. %

o2
ed—1

4, &
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The ionic strength (i) for a 0.1M AICIs will be

Options :
0.2
1. %
0.3
2. %
0.6
3.¢¥
FE
4. ®
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Which of the following is true about Michaelis — Menten kinetics?

Options :

Km, the Michaelis constant, is defined as that concentration of substrate at

which enzyme is working at maximum velocity.
1. %

Km is defined as the concentration of substrate at which enzyme is working at

half of maximum velocity
2. ¢



Km is defined as the dissociation constant of the enzyme — substrate complex

It assumes covalent binding occurs between enzyme and substrate
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The overall rate of a reaction is determined by

Options :

Rate of the fastest intermediate step

1. %
- Sum total of the rates of intermediate steps
Average of the rates of all the intermediate steps
3, ®
. Rate of the slowest intermediate step
4.«
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The unit cell of a certain type of crystal is defined as three vectors a, b and c.
The vectors are mutually perpendicular, but a # b # c. the crystal structure is

Options :
Triclinic
1. #
Tetragonal
2. %

Orthorhombic

Monoclinic
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The name reaction involved in the following conversion
OH

e P,0 TR
Y. —=— 0
T I

O

L

Options :

Schilittle-Muller Isoquinoline

1. %
Pomeranz-Fritsch Isoquinoline synthesis
2. %
Pictet-Gams Isoquinoline synthesis
3.¢
Pfitzinger Isoquincline synthesis
4. #
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A Friedel-Crafts reaction of an arene with succinic anhydride is followed by

reduction and an additional intramolecular Friedel-crafts reaction to give
tetralone. Such entire process is called

Options:

Haworth reaction
1.4



Herz reaction

2. %
Hetero aryl Heck reaction
3. %
Hiyama cross coupling reaction
4, %
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The major product obtained in the following schemes | & Il respectively

,J%,.m/{:EHEDH or H,0

=  product of scheme I

Scheme |

SeQ,

I
/e

Scheme ||

* product of scheme [1

Options :



OH OH

product of scheme | product of scheme |l

?:/— 8 AOH

OH

product of scheme [
product of scheme |

2. ¥
HO, HO,,
%% .
product of scheme | product of scheme |
3. #

HO OH
HD~>_)— &

product of scheme | product of scheme ||
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The suitable reagents used in the following conversions respectively

L) —— O
[’:jl L. CEZ:

OH 0
O ——CD
o 0

Options :

() DDQ, CeHs (Il) OsOs, Py. THF (lll) Pb(OAc)s

1.¢
(1) Ph(OAc)s (Il) OsO4, Py, THF (Ill) DDQ, CsHs
2. ®
(I) TIOAC, I2, AcOH/H20, NaOH, H20, EtOH (11) Pb(OAc)s (lll) DDQ, CeHs
3. ®
(1) TIOAC, l2, AcOH/H20, NaOH, H20, EtOH (1) DDQ, CsHs (11l) Ph(OAC)s
4. %

Question Number : 121 Question Id : 51714412298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following statement is correct
Options:

Triaryl methyl cations are propeller — shaped, it can be investigated by *C
NMR spectroscopy

1.4
Triaryl methyl cations, in which the benzene rings can be all in the same
plane and can be investigated by PMR spectroscopy

2. *
Triaryl methyl cations are pyramidal, it can be investigated by PMR
spectroscopy

3. %
Triaryl methyl cations, in which the benzene rings can he all in the same
plane and can be investigated by '*C NMR spectroscopy

4. #

Question Number : 122 Question Id : 51714412299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following pair of carbocations cannot exist

Options:

)—;Q@ and

:EPB,I



and ,-{:
3. %
y H
H‘Q f_'__)ll'
|- |
| =~ |
L and 1
™ L
4. &
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The major and minor product obtained in the following conversion and their

relationship

OL PhCHO
vf* -
THF
Jape

Options :

OH O

(1)

Products are enantiomeric, (1) is major and (Il) is minor



Products are enantiomeric, (I) is minor and (1) is major

Products are diastereomeric, (I) is major and (ll) is minor
3.

Products are diastereomeric, (I) is minor and (Il) is major
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The major product of the following reaction.
OAc Me Me

Li, NH4, ether
= major product

Options :
OH Me Me
T, -
Me
Me
1. %
OH Me Me

ﬁfkf\ﬁkmﬂ



OoH Me e
Me

Me

OoH Me Me
Me
Me
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The correct statement(s) for following conversion

4 /sc:lvenl

.,rf: Y > Major product

Options:

If the solvent is neutral/basic, the Y -attacks at Czto produce its major product
1.¢

If the solvent is neutral/basic, the Y - attack at Cito produce its major product



If the solvent is acidic, the attack of Y takes place at only C1 with retention of
configuration

If the solvent is basic the attack of Y “takes place at only C4 with retention of
configuration
4, %
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Only one signal is appeared in the '"H NMR spectra of
Options :

Ethanol, 2,3-Dimethylbutane

1. %

2,2- Dimethylpropane, 2-Butyne
2.

2-Butene, Ethoxyethane
3. %

1-Butyne, Methoxymethane
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An organic compound having molecular formula C1oH14 exhibited two signals in
'H NMR spectrum and three signals in *C NMR spectrum. The structure of
compound is

Options :
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Among the following, which of the series contains all aromatic compounds?
Options :

Pyrene, acenapthalene and fluoranthene

1.4
Acepentalene and dibenzopentalene
2. %
Acenapthalene, anthracene and acepentalene
3. %
Fluoranthene, dibenzopentalene and Dewar benzene
4. %
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The type of reaction and product obtained in the following reaction

i
Me N Me PN .

-

g
Options :

Concerted reaction . product is

Me
o— Me
H =
H
1.4
Concerted reaction , product is
Me
i SR .-H
¥ .
Me
2. %
Non concerted reaction . product is
Me
— he
H _'\.
H
3. %
Non concerted reaction . product is
Me,
)= H
Ho \=(
Me
4, %
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The reaction conditions and mode of reaction in the conversion of butadiene into
corresponding bicyclobutane

Options :

hv/T%s + T2
AT + T
hv/Tres + T2

ATTes + T4
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The IUPAC name for the following compound
rS,‘N,H
S

Options:

2H, 4H-1,5.2-dithiazine



2H, 6H-1,5,2-dithiazine

1,3-dithio-4-aza cyclohexa 4 —ene

1,3-dithio-6-aza cyclohexa 4 -ene
4. ®

Question Number : 132 Question Id : 51714412309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

An early name for ethylene was
Options:

Ethene

1. %

Formine

Olefin

Gazolefiant
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When either Anthracene or Phenanthreneis allowed to react with a reagent such
as Ozone or Bromine, the reactant loses the 9&10 bond by attack of the reagent,
the reason is

Options :

Both are planar molecules

1. =

5 Both are aromatic molecules

3 ¢ Two complete benzene rings remain after the reaction
9 and 10 bond(s) weak

4., %
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Which of the following order is correct towards reactivity for formation of Diels
Alder Product?

Options :

Furan > thiophene > pyrrole > benzene

1. %

Pyrrole > thiophene = furan > benzene
2. %

Benzene > furan > thiophene > pyrrole
3, #®

Furan > pyrrole > thiophene > benzene
4.
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Choose the correct statement which related to reaction feasibility of following
schemes - I & II.

scheme-|
O

[fo | .
+ =
| n 7
-78°C

scheme -ll

Options :

Scheme-| is not possible but scheme-Il is possible.

1. #®
- Both Schemes are not possible
Both Schemes are possible
3. ¢
i Scheme-| is possible but scheme-ll is not possible
4,
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When benzene is allowed to react with propene in the presence of strong acids
like HF, the resulted major product is

Options :

1. %
.y
NN
L
2. ¥
3, ®
4. %
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Choose the correct option(s) in the following statement(s) -1, [1& IIL.

Statement- |: - The quantum yield for formation of any specific product may or
may not be as same as the quantum yield for the decomposition of starting
material.

Statement -lI:- In the excitation energy transfer , the resonance energy transfer
can occur when the absorption spectrum of the acceptor overlaps the emission
spectrum of the donor.

Statement-lll:-In the following reaction, no products of Norrish Type - Il photo
elimination are observed.

U Light i

L g -
- “““x: "t?.“r"'H IRJ:{H" H %"'J—‘-

1 - L
RERPRE RiIgR?=Mel \

Options :

Only statement |,Il are true

1. %
Only statement lI&Ill are true
2. ®
Only statement &Il are true
3. %
All the statements |, lI&lll are true
4.
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Which of the following molecular shape is more stable with [R],[R Jconfiguration
at respective chiral centres

Options :

2.9

Ta -\
3. %
4. %
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As per the IUPAC the position of the nitrogen hetero atom in Isoquinoline

Options:



2" position

1.4
- 3™ position
- 1%t position
L 7t position
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Furan on reaction with ketone in the presence of acids and perchlorates,
produced major product . Identify this major product

Options :

20
(o,



Cyclic tetramer

o T2+

R
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The major product of the following reaction [MIP= Methoxy isopropyl]

OMe
oH ~OH g
| 75
&' "_DMDBI'I - 7
RO =" TsOH, 24 h, 94%
HO

Options:
oH OMIP
——0  OBn
Dg-r-;-'“--:l‘f
__/_}____.g
1. #
o _OMIP
—\</ O, OBn
Oi,—;r-i/
HO
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The IUPAC name of the following compound is
H'““-\Jf\"hh
Options :

3-cyclopropylbutane
3-Isobutyl cyclopropane

2-Ethyl,2-cyclo propylethane
3, *®



2-cyclopropylbutane
4.
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The most populated and stable confirmation of butanone molecule.

Options :

e

lorsion angle of 120°



torsion angle of 907

3_ )
0
H. At~ -
"\-»_H./ \‘\(’.-
| |
L]
\J{ /
Me
M
4. % torsion angle of 1807
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In the following reaction the major product

(@

CH,
| 3
OTs
Ervihro-isomer

H
HyC~C
D

Options :

CHj,

D

'-"._ -
L - ? major product




H
2. %
!
H.C. = i
3 Hrf‘ CH3
3. D
|
H E'\-\. —
: ¥ CHs
H
4. %
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The maximum number of cyclic dipeptides produced when two amino acids are

allowed to react.

Options:

- Three
Two

e
One only

3. ¢



Four

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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The number of chiral centres present in cholesterol molecule.

Options :
Seven
Six
2. ®
five
3_@5
Eight
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Match the following drugs with their medical activity

List- | List- 1l

i) Oxamniquine (a) ACE Inhibitor

i) Enalaprilate (b) Solbutamol

iif) Anti asthamatic (c) Anti ulcer

iv) Cimetidine (d) Schistosomiasis

Options :

(@-ii  (b)iv  (c)ii  (d)-i

1. %
O
R -
Lo [ERU AR HEE  EE
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Choose the correct statement from the following
Options:

Furfuraldehyde can exist in transoid form in liquid state but changes to cisoid

form in gaseous state
1.4



The 'H-NMR Spectrum of M-gauche and P-gauche conformations of
2,2,3,3-tetrachloro butane are different

2. *
The two methyl groups attached to nitrogen in N.N-Dimethylacetamide are
identical for PMR spectrum at room temperature

3. %
Anti-conformation of 1,1,2,2- tetrabromoethane is more stable than
gauche at room temperature

4. %
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In 1-methyl 1-phenyl cyclohexane, the preferable conformation is

Options:
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The percentage of atom economy will be greater in the following type of reaction
Options:

Substitutions and eliminations

Additions and intramolecular rearrangements
2. ¥

Substitutions and additions

o Eliminations and intermolecular rearrangements






